
Computer-based KET for Schools Practice Test 
 
Reading and Writing Answer Key 
 
PART 1  PART 2  PART 3  PART 4  PART 5 

1 H               6 B            11 C   21 A    28 B                 

2 C  7 A  12 B   22 C  29 C 

3 G  8 B  13 C   23 A  30 B 

4 D  9 C  14 A   24 B  31 B 

5 A  10 C  15 C   25 A  32 A 

      16 F   26 A  33 C 

      17 B   27 B  34 A 

      18 D      35 C 

      19 A        

      20 H        
 
 
 
PART 6  PART 7  PART 8 

36 stadium                41 have               51 Saturday 

37 camera  42 them  52 (starts at) 1.30 (p.m.) 

38 beach  43 than   (starts at) 13.30 

39 guitar  44 the   (starts at) one thirty (in the afternoon) 

40 tent  45 last   (starts at) half past one (in the afternoon) 

    this  53 (a) (warm) sweater 

   46 with  54 car 

   47 go  55 366387 

   48 ago    

   49 each    

    every    

    a    

    per    

   50 lot    

    number    

 
 
Brackets ( ) indicate optional words. 
 
 



General mark scheme for Part 9 
 

 

 

 

Mark 

    

 

 

  Criteria 

The three pieces of information are:- 

(i) What time to come.   

(ii) Which DVD you want to watch.   
 
(iii) What you would like to eat. 

5 All three parts of message clearly communicated. 

 Only minor spelling errors or occasional grammatical errors. 

 

4 All three parts of message communicated. 

Some non-impeding errors in spelling and grammar or some awkwardness of 
expression. 

 

3 All three parts of message attempted 

Expression requires interpretation by the 
reader and contains impeding errors in 
spelling and grammar. 

All three parts of the message are 
included but the context is incorrect. 

 Two parts of message are clearly 
communicated but one part is 
unattempted. 

Only minor spelling errors or 
occasional grammatical errors. 

 

2 Only two parts of message communicated 

 Some errors in spelling and grammar. 

 The errors in expression may require patience and interpretation by the reader 
and impede communication. 

 Some relevant content to two or more points but response is unclear 

1 Only one part of message communicated.  

 Some attempt to address the task but response is very unclear. 

0 Question unattempted or totally incomprehensible response. 

 

Questions 1 to 55 carry one mark each. Question 56 is marked out of 5. This gives a total of 
60 marks, which is weighted top a final mark out of 50, representing 50% of the total marks 
for the examination. 


